Multiply decimals by 10,100,1000

9.568 x 10 =

526 x 10 =

1.395 x 100 =

1.479 x 1000 =

10.496 x 10 =

4.315 x 1000 =

6.583 x 1000 =

4.467 x 100 =

4.111 x 100 =

5.897 x 100 =

Date: Score:

8.224 x 10 =

5983 x 10 =

6.548 x 1000 =

9.741 x 10 =

8.693 x 1000 =

7.732 x 10 =

7.976 x 100 =

6.364 x 1000 =

9.86 x 10 =

1.862 x 10 =
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SRTY
“ EE Multiply decimals by 10,100,1000

Name: Date: Score:
9.568 x 10 = 95.68 8.224 x 10 = 82.24
526 x 10 = 52.6 5.983 x 10 = 59.83
1.395 x 100 = 139.5 6.548 x 1000 = 6548
1.479 x 1000 = 1479 9.741 x 10 = 97.41
10.496 x 10 = 104.96 8.693 x 1000 = 8693
4.315 x 1000 = 4315 7.732 x 10 = 77.32
6.583 x 1000 = 6583 7.976 x 100 = 797.6
4.467 x 100 = 446.7 6.364 x 1000 = 6364
4111 x 100 =411.1 9.86 x 10 = 98.6
5.897 x 100 = 589.7 1.862 x 10 = 18.62
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